Puzzle 10824 - Sunday, 10 May, 2015 - Difficulty 3

13 6 | 16 | | 24 1 45 ‘
612 118|337 |94
i H 7173::"‘ L{éii”ii::i:iﬁi:‘ 171":,"‘: H i
7|3 f(9]6]2|4]|5|8]1
a1 i é,iiiivéé’”] éf::i i i 3727::,,:::,:
8|5 4197|632
% :7271"" ffffff,‘i H 11 :k{éiii :::::{: ;
1)9|8]|5|6|2[3|a4]7!
éf::::,:‘ 17176”7: fff:f,} ‘ ‘1727:: :::::{: ‘ %777:::
34678} 1|2[5]9
i i éfj:::: L{C?)T:{l : :1’2”” : ’1’3;111: 787,::‘ i i
217|534 /9[1]6]8]
2 N [ 3 A TR NSS! R T
S|1)8}9)7|8]4]2]6
o6 [2[aj1|3|8]7]|5
{é’,’,ﬁ ———————— k{éif — iéf ———————
418|712 ]5[6f9 1|3

Copyright (c) www.dailykillersudoku.com




